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MA 141-012 F18 Recitation 10, Nov 6 (Election Day!)

L.

ot

Let f(z) = x3 — 522 — 6. Determine the function ¢(Az) that vanishes as Az — 0.
Compute the differential df of f then use it to approximate A f, the change in f, when
z changes from z = 2 to « = 2.1 Use this value of Af to approximate f(2.1). (see
figure a)

The end of a house has the shape of a square surmounted by an equilateral triangle.
Suppose the length of the base is measured to be 39 feet, with a maximum error
in measurement of 1 inch. Calculate the area of the end. Then use differentials to
estimate the maximum error in the calculation of the area. (Hint: If the length of the

base is x then the area is A(z) = (1 + @)3;2)
Recall that the indefinite integral [ f(z)dz is the family of antiderivatives F'(x) + C
such that L F(z) + C = f(x). Evaluate [ (1_32.2 v :ﬁ) dx.

Find the antiderivative of f(z) = 4e!** that passes through the point (0, %)

Since (&' cos(x)) = ;

the indefinite integral [ 8e** cos(z) — 2e* sin(z)dz =

Use Riemann Sums to approximate the area of the region under the graph of f(x) =
52% +1 (shown below), above the z- axis, and between the lines = 0 and z = 2. Use
the left endpoints and n = 5 rectangles of equal width. Is this approximation for the

area less than or greater than the true area? (see figure b)
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